Run 4977 quartetwise, Asyms0 (Raw): All
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Run 4977 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 4977 quartetwise, Asyms0 (Raw): Beam OFF
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Run 4977 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 4977 quartetwise, Difts0: All Run 4977 quartetwise, Diffs0: Beam OFF
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Run 4977 quartetwise, NegHelAccO/NSamplesQ: All
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Run 4977 quartetwise, NegHselAccl/NSamples: Beam ON, Laser ON
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Run 4877 quartetwise,
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Run 4977 quartetwise, NegHelAccO/NSamples0: Bearm OM, Laser OFF
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Run 4977 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO

u Entries 31413
u Mean 12.25
— Std Dev 8.3449
[ | I 1 L _.-l--"‘-l-'_l""-' | | | | | I
0 10 15 20 25
PosHelAccO/PosHelNSamplesD
Run 4977 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON
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Run 4977 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 4977 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF
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Run 4977 quartetwise, Sums0: All
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Run 4977 quartetwise, Sums0: Beam ON, Laser ON
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Run 4977 quartetwise, Sums0: Beam OFF
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Run 4977 quartetwise, Sums(: Beam ON, Laser OFF

guamstwiza boami lasl summd

— Entries 7594
E Mean 8.747
— Std Dew 0.6227
:||J_||_||_|_J.J_|._L...||_|.L PR [N O A I O A A [ 11

4 5 6 7 B8 9 10 11

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamples0




